RESEARCH LETTER

Imbalance in Heart Transplant to Heart Failure Mortality Ratio by Sex

Khadijah Breathett ^(b), MD, MS; Shannon M. Knapp, PhD; Molly Carnes, MD, MS; Elizabeth Calhoun, PhD, MEd; Nancy K. Sweitzer ^(b), MD, PhD

llocation of heart transplants may be inequitable by sex. For over a decade, women have received <25% of heart transplants.¹ Women have similar prevalence of heart failure (HF) as men. but higher HF mortality.² Women also have higher prevalence of HF with preserved ejection fraction, which has limited benefit with heart transplant, than men.³ However, among the highest risk population that has recurrent heart failure hospitalizations. women have similar prevalence of HF with preserved ejection fraction and HF with reduced ejection fraction (HFrEF).³ Adding the intersection of race results in higher prevalence of HFrEF among subgroups such as Black women.³ In comparison, the majority of men with recurrent HF hospitalizations have HFrEF.³ Since HFrEF can be treated with heart transplants, this suggests a heart transplant sex disparity.

See Editorial by Mohammed

Geographic and center culture may contribute to disparities in heart transplant allocation.⁴ Given observed sex bias in the allocation of heart transplants,⁴ we sought to determine whether heart transplant rate to HF mortality rate varied geographically across the United States for women compared with men.

It is important to identify geographic areas with the greatest disparities so that interventions can be appropriately tailored to achieve equity.

Using data from the United Network for Organ Sharing and Centers for Disease Control and Prevention Wide-Ranging Online Data for Epidemiological Research we examined heart transplant and HF mortality (underlying

cause of death International Classification of Diseases. Tenth Revision (ICD-10: I50 [I50.0, I50.1, I50.9]) ratio by sex from 2016 to 2018 nationally and by state among adults aged 35 to 64 years since this age group receives the majority of heart transplants. All 50 states plus D.C. were included for the national analysis. Among state analyses, states were excluded for missing HF mortality (9 states+D.C.), which was either suppressed or marked unreliable by Centers for Disease Control and Prevention Wide-Ranging Online Data for Epidemiological Research for <20 HF deaths or risk of identifying individuals. The national cohort included 19 784 HF deaths and 5800 heart transplants: the final state cohort included 19 497 HF deaths and 5641 heart transplants (n=41 states). The University of Arizona Institutional Review Board exempted this study from review. Data are publicly available from United Network for Organ Sharing and Centers for Disease Control and Prevention Wide-Ranging Online Data for Epidemiological Research.

The primary outcome was heart transplant rate to HF mortality rate ratio. Ratios were calculated for each sex nationally and by state as the number of transplants per 100 000 population per year divided by the age-adjusted HF mortality rate per 100 000 population per year. Heart transplant to HF mortality ratios were compared between women and men, with the ratio for men as the control. Calculations were completed using R version 3.6.3 (Vienna, Austria).

In national analyses, women received 0.789 heart transplants per 100 000 per year, and men received 2.330 heart transplants per 100 000 per year. The heart transplant to HF mortality ratio was 0.263 for women and 0.424 for men, resulting in lower ratio for women versus men at 0.620. In the state analyses, 98% (40 of 41 states)

Correspondence to: Khadijah Breathett, MD, MS, Sarver Heart Center, University of Arizona, 1501 North Campbell Avenue, PO Box 245046, Tucson, AZ 85724. E-mail: kbreathett@shc.arizona.edu

For Sources of Funding and Disclosures, see page 3.

^{© 2021} The Authors. Published on behalf of the American Heart Association, Inc., by Wiley. This is an open access article under the terms of the Creative Commons Attribution-NonCommercial-NoDerivs License, which permits use and distribution in any medium, provided the original work is properly cited, the use is non-commercial and no modifications or adaptations are made.

JAHA is available at: www.ahajournals.org/journal/jaha

Table. Ratio of Hea	art Transplantati	on to Heart Failure I	Mortality by Sex 201	l6 to 2018				
State	Region	Transplant Rate Women	HF Mortality Rate Women	Transplant Rate Men	HF Mortality Rate Men	Transplant to Mortality Ratio Women	Transplant to Mortality Ratio Men	Ratio Women to Men
All		0.789	3.00	2.330	5.50	0.263	0.424	0.620
West Virginia	South	0.367	4.08	2.518	5.39	060.0	0.467	0.193
New Jersey	Northeast	0.413	2.13	2.410	3.65	0.194	0.660	0.294
Tennessee	South	0.947	4.34	4.008	7.11	0.218	0.564	0.387
Alabama	South	0.308	7.91	1.508	15.97	0.039	0.094	0.413
Delaware	South	0.866	2.70	2.646	3.46	0.321	0.765	0.419
Kentucky	South	0.832	6.41	2.895	9.49	0.130	0.305	0.426
Idaho	West	0.320	1.98	1.286	3.67	0.162	0.350	0.461
Wisconsin	Midwest	0.618	1.54	2.232	2.57	0.401	0.869	0.462
Arkansas	South	0.583	4.93	2.303	9.50	0.118	0.242	0.488
New Mexico	West	0.256	2.16	0.977	4.06	0.118	0.241	0.492
Nevada	West	0.461	2.11	1.660	3.81	0.219	0.436	0.502
Georgia	South	0.445	6.42	1.609	11.66	0.069	0.138	0.502
New York	Northeast	0.742	1.32	2.709	2.50	0.562	1.084	0.519
Mississippi	South	0.800	11.13	2.533	18.29	0.072	0.138	0.519
Ohio	Midwest	0.784	3.53	2.331	5.49	0.222	0.425	0.523
Minnesota	Midwest	0.622	1.23	2.162	2.33	0.505	0.928	0.545
Massachusetts	Northeast	0.982	2.06	2.667	3.05	0.477	0.874	0.545
Florida	South	0.804	2.10	2.500	3.63	0.383	0.689	0.556
Utah	West	0.711	2.47	2.048	4.02	0.288	0.509	0.565
Oklahoma	South	0.503	3.94	1.447	6.43	0.128	0.225	0.567
Hawaii	West	0.372	1.89	1.494	4.36	0.197	0.343	0.575
North Carolina	South	0.984	4.25	2.762	7.03	0.232	0.393	0.589
California	West	0.626	2.03	2.110	4.33	0.309	0.487	0.633
Oregon	West	0.575	3.04	1.339	4.51	0.189	0.297	0.638
Missouri	Midwest	0.730	4.49	1.893	7.46	0.163	0.254	0.641
Illinois	Midwest	0.963	3.40	2.851	6.50	0.283	0.439	0.645
Michigan	Midwest	0.642	3.26	1.731	5.68	0.197	0.305	0.647
lowa	Midwest	0.914	1.93	1.986	2.88	0.473	0.690	0.686
South Carolina	South	0.632	5.52	1.665	10.04	0.115	0.166	0.691
Virginia	South	0.999	3.95	2.797	7.82	0.253	0.358	0.707
Kansas	Midwest	1.303	2.51	3.314	4.56	0.519	0.727	0.714

(Continued)

State	Region	Transplant Rate Women	HF Mortality Rate Women	Transplant Rate Men	HF Mortality Rate Men	Transplant to Mortality Ratio Women	Transplant to Mortality Ratio Men	Ratio Women to Men
Pennsylvania	Northeast	0.907	2.51	2.443	4.84	0.361	0.505	0.716
Nebraska	Midwest	1.431	2.50	3.403	4.38	0.572	0.777	0.737
Texas	South	0.908	3.43	2.390	6.65	0.265	0.359	0.737
Washington	West	1.114	1.16	2.768	2.15	0.961	1.287	0.746
Maryland	South	1.170	1.66	2.818	3.03	0.705	0.930	0.758
Indiana	Midwest	1.220	3.82	2.654	6.64	0.319	0.400	0.799
Louisiana	South	0.737	8.87	1.556	15.45	0.083	0.101	0.825
Colorado	West	0.645	1.36	1.460	2.73	0.474	0.535	0.887
Arizona	West	0.796	0.81	2.224	2.07	0.982	1.074	0.914
Connecticut	Northeast	1.393	1.20	3.046	3.25	1.161	0.937	1.238
Rates are per 100 000 $\boldsymbol{\mu}$	oer year among pati	ents aged 35 to 64 years	. HF indicates heart failur	Te.				

had lower ratios for women compared with men (Table). Ratios were higher for women compared with men only in Connecticut. The lowest median heart transplant to HF mortality ratio was observed in the Southern region at 0.537 (interquartile range, 0.424–0.695) followed by Northeast at 0.545 (interquartile range, 0.519–0.716), West at 0.604 (interquartile range, 0.517–0.719), and Midwest at 0.646 (interquartile range, 0.569–0.707).

Multiple factors contribute to low allocation of heart transplant to women. This study was not able to adjust for clinical factors, patients' preferences, social determinants of health, or sex bias. Rather a general overview of transplant disparities is provided at a geographic level. Given known sex inequities in pharmacological and non-pharmacological management of heart failure,⁵ this study provides fuel to explore cultural decision-making contributing to low transplant rates among women.

As crude analyses, we were unable to stratify results by phenotype contributing to HF mortality and are at risk for unmeasured confounding variables as with any observational study. However, among the highest risk group with recurrent HF hospitalizations, HF with preserved ejection fraction was a greater cause of annual mortality than HFrEF among White men in 1 national study.³ Conversely HFrEF was a greater cause of annual mortality than HF with preserved ejection fraction among women.³ This suggests that sex disparities in transplant to mortality ratio may be underestimated. In addition, taking ratios of ratios may amplify small differences. For this reason, we included a table of individual rates and ratios by sex to surmise sex differences among and across states.

Among the United States, women had lower heart transplant to HF mortality rate ratios than men. Disparities were widespread but were the worst in the US South. Implementation of strategies to achieve sex equity in allocation of heart transplants should be investigated across the United States.

ARTICLE INFORMATION

Received November 12, 2020; accepted March 29, 2021.

Affiliations

Division of Cardiovascular Medicine, Sarver Heart Center (K.B., N.K.S.); Statistics Consulting Lab, Bio5 Institute (S.M.K.); Center for Population Health Sciences (E.C.), niversity of Arizona, Tucson, AZ; and Department of Medicine, University of Wisconsin, Madison, WI (M.C.).

Sources of Funding

None.

Disclosures

Dr Breathett has research funding from Women As One Escalator Award; National Heart, Lung, and Blood Institute K01HL142848, R25HL126146 subaward 11692sc, and L30HL148881; University of Arizona Health Sciences, Strategic Priorities Faculty Initiative Grant; University of Arizona, Sarver Heart Center, Novel Research Project Award in the Area of Cardiovascular Disease and Medicine, Anthony and Mary Zoia Research Award; and American Heart

Fable. Continued

Association Get With The Guidelines Young Investigator Database Seed Grant Award. Dr Carnes's research on scientific workforce diversity is funded by National Institute of General Medical Sciences R35GM122557. The remaining authors have no disclosures to report.

REFERENCES

- Colvin M, Smith JM, Hadley N, Skeans MA, Uccellini K, Goff R, Foutz J, Israni AK, Snyder JJ, Kasiske BL. OPTN/SRTR 2018 annual data report: heart. *Am J Transplant*. 2020;20:340–426. DOI: 10.1111/ajt.15676.
- Virani S, Alonso A, Benjamin EJ, Bittencourt MS, Callaway CW, Carson AP, Chamberlain AM, Chang AR, Cheng S, Delling FN, et al. Heart disease and stroke statistics—2020 update: a report from the American

Heart Association. *Circulation*. 2020;141:e139-e596. DOI: 10.1161/ CIR.000000000000757.

- Chang PP, Wruck LM, Shahar E, Rossi JS, Loehr LR, Russell SD, Agarwal SK, Konety SH, Rodriguez CJ, Rosamond WD. Trends in hospitalizations and survival of acute decompensated heart failure in four US communities (2005–2014): the Atherosclerosis Risk in Communities (ARIC) study community surveillance. *Circulation*. 2018;138:12–24. DOI: 10.1161/CIRCULATIONAHA.117.027551.
- Breathett K, Yee E, Pool N, Hebdon M, Crist JD, Yee RH, Knapp SM, Solola S, Luy L, Herrera-Theut K, et al. Association of gender and race with allocation of advanced heart failure therapies. *JAMA Netw Open*. 2020;3:e2011044. DOI: 10.1001/jamanetworkopen.2020.11044.
- 5. Hsich EM. Sex differences in advanced heart failure therapies. *Circulation*. 2019;139:1080–1093. DOI: 10.1161/CIRCULATIONAHA.118. 037369.